£ WSk x o] ol 3 A u), p o



op

e ek o}

]

S

luf
-
—_
1jo
oo
o
o
it
ol
=
Hoom
o5 o
o H
S
o
T or
= =
oo 12_|
o =
el °
B o
Nlay Mm
N o o
Lﬂt H ome
1j0 A_l dﬂ_
© ©)



3.

5y —ax = 3x + 6y 7} ] A 5=7F 2 7R LA A
Zro g Atslz] e 7129

AT

o] 5]7] 95t 4 9]

v @ -3 ® 1



P4 5x + 5y = k&

a7} 22

9

0.8x-0.1y =0.2

3x + 4y

-1

® 0



{(a—?)x+3y:2

21x -9y = -6

® -3



@ 17

EECE =

@ 27



arpggy BT D) o gt ot n,—a) 2n

o, —2m+1 9 FS v=2A F3 A9




ol % A7t 14km A 419 A2 we} S41 Shd] Setz

Aol
= Al& 3km/h 2, WS H= Al 4km/h 2 ZojA BE 4
AlZro] ARt &7t AglE xkm , W2 AEE ykm 2kl T o,
e F AYBHAL vhEA BE ALT

x—y=14 x+y=14
OIS O S

3x+4y=4 3x+4y=14

x—y=14 x+y=14
®{x+y—4 R LR

3 4 X y_

x+y=14

,_‘_,:4

3 4



-2

@ x=-1,y

O x=2 y=-2

@ x=1y=-2

@ x=1y=2

=4

®x=-2y



10.

=

& AY

® -3

Al
=1

N xy o gr2?

[e}
(x+y)—y=4x-2(x+y)=5

@ -2 ® -1

@ 0



